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11. Match the statements given in List-A with appropriate names given in List-B. Write 

the correct answer in the space provided :  4 × 1 = 4 

  List-A List-B 

 (a) First Indian satellite (i) Bhaskara-1 

 (b) First Indian remote sensing satellite (ii) Polar Satellite Launch Vehicle (PSLV) 

 (c) First Indian geostationary satellite (iii) Satellite Launch Vehicle-3 (SLV-3) 

 (d) First Indian rocket (iv) Aryabhatta 

   (v) Rohini RH-75 

   (vi) INSAT-3E 

   (vii) Ariane Passenger Payload Experiment 

    ( APPLE ) 

 Ans. : a)   

   b)   

   c)   

   d)   

 Fill in the blanks :    3 × 1 = 3 

12. The gravitational force between earth and an object of mass 10 kg on its surface in 

newtons is ……………………… . 

  

  

13. ‘I’ is the intensity of scattered light of wavelength λ. The mathematical form of the 

statement “Intensity of scattered light is inversely proportional to fourth power of its 

wavelength” is ………………………… . 

  

  

14. Name of the simplest hydrocarbon is ………………………… . 
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35. Draw a neat diagram of nuclear reactor and label the following parts : 

 a) Control rods  b) Concrete shield. 
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 Answer the following questions in two to three sentences each : 6 × 2 = 12 

47. Differentiate between the two types of root systems found in angiosperms. 

  

  

  

  

  

  

  

  

48. What are Dendrites and Axons ? Write any one difference between them. 

  

  

  

  

  

  

  

  

Preview from Notesale.co.uk

Page 26 of 32



83-E 28 

( SPACE FOR ROUGH WORK ) 
 
 
 
 
 
 
 
 

✪ 812130 

51. Which are the four methods of HIV transmission ? 

  

  

  

  

  

  

  

  

  

52. As a consumer what are your roles and responsibilities in preventing food 

adulteration ? 
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